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no= ¢ = {t, £t*2}
out[10]= {t, tz}
nfg= pll = ParametricPlot[c, {t, -2, 2}];

nE3= de = D[c, t]
ddc = D[dc, t]

ouzs= {1, 2t}
ouza= {0, 2}

nf3p= r = Sgrt[dc.dc]

ouizl V1 +4t?

nisp= Plot[r, {t, -2, 2}, PlotRange -» {{-2, 2}, {-1, 5}}]
5

Out[15]=

T T

-2 -1

T

ne3= el =c /. {t> 1}

oueal= {1, 1}

nesi= vil = (de/x) /. {t > 1}
1 2 }

V5 V5
neor= {{0, -1}, {1, 0}} // MatrixForm

Out[29]//MatrixForm=

Out[28]= {

0 -1

(l 0 )
ne7i= val = {{0, -1}, {1, 0}}.vtl
ouer {- ——, ——)

V5 V5
npo;= pl2 = Graphics[Arrow[{cl, cl +vtl}]];
pPl3 = Graphics[{Red, Arrow[{cl, cl+vnl}]}];



ne21= Show[pll, pl2, pl3]

4t

out[32]= 2l

-2 -1 1 2

nesi- kz = Det[{dc, dde}] /r~3
2

Out[35]=

(1+4t2)>

nze= Plot[kz, {t, -2, 2}, PlotRange » {{-2, 2}, {-1, 5}}]
5

T T T T T

L

Out[36]=

-2 -1

T

ne7= kzl =kz /. {t > 1}
2

5+/5

out[37]=

n4o= ec =c /. {t » Log[s]}

outf40]= {Log[s] , Log[s}z}



n4el= ParametricPlot[cc, {s, 1, E+1}]

out[48]=

05

n51= rs = Sqrt[D[cc, s] .D[cc, s]]~;

ne2r= Plot[rs, {s, 1, E+1}, PlotRange » {{-2, 2}, {-1, 5}}]

5c

out[62]= 2 ;
ik —
L n n n n 1 E 1 J
-2 -1 I 1 2

-1
nBo= kzs = Simplify[Det[{D[cc, s], D[cc, {s, 2}]}] /Sqrt[D[cc, s].D[cc, s]]"3];

nso= kzs /. {s » E}
2

out[59]=



ne7= Plot[kzs, {s, 0, E+ 3}, PlotRange - {{-2, 6}, {-1, 5}}]

5r
o
3f

Out[67]= 2L
"

5 : : ; :

L

nes= vtl

1 2
out[68]= {—, —
NEERVE
n7a- eZobr = ({{1, 2}, {-2, 1}} /Sqrt[5]).c- {3, -1} /Sqrt[5]
3 t 2 t2 1 2t t2
out[74]= { }

V5 VE 5 NE V5 4

n76}= ParametricPlot[cZobr, {t, -2, 2}]

4t
3|
out[76]= 2t
1+
1 1 2 3
n79= kzZobr =
Simplify[Det[{D[cZobr, t], D[cZobr, {t, 2}]1}] /Sqrt[D[cZobr, t] .D[cZobr, t]] "3]
2
out[79]=

(1+4t2)%?

ns1= kz
2
out[s1]=

(1+4t2)%?

ing7)= pevBOD =

Solve[({{1, 2}, {-2, 1}} /sqrt[5]).{x, y} - {3, -1} /Sart[5] = {x, y}, {x, y}] [[1]]
(*»vypocet pevného bodu#)

573\/? v 5+\/? }
2(—5+\/?), 2(—5+\/?)

out[87]= {x - -



inigsl= N [pevBOD]

oussl= {x - -0.309017, y—> 1.30902}
o= R1 = l/kzl

no1= S1 = cl +R1 *xvnl

out[91]= {— 4, E}

ni100p= pl4 = Graphics[{Darker[Darker[Green]], Circle[S1l, R1]}];

n1o1= Show[pll, pl2, pl3, pl4]

41

out[101]= 2l

-2 -1 1 2



